Easter Missing Digits Subtraction ()

Name: Date: Score:

Rabbits ate some of the digits thinking they were clover. Can you figure out what they ate?

oLe[ 1] = [Lle[]7 = 79DD « 1]

- 1791 — 9098 — 242 - 852
9679 6 0 1 42 8477

; o 1779 = s 210
- ]250 - ] 66

8 | |7

Happy Easter irom Math-Drills.com!




Easter Missing Digits Subiraction (C) Answers

Name: Date: Score:

Rabbits ate some of the digits thinking they were clover. Can you figure out what they ate?

L 164700 2 15607 = 7984 + 17001
- 6/791 — 90098 — 6242 — 8524
1742 8477

9679

» 1l4106 s 12107
- 7977 — 3/066
6129 9041

9. 9355 10. 6 7“6 4 11. 12. 4
— 11/4)5 — - — 5024
8210 9118

13105 3/4 4. 12616 1. 1)3/12)2 6. 10418
— 3807 — 6215 — 4379 - 5376
6727 64/0[1 8743 5042

B 4

. 9@91 18, @058 19. 09 20. 3 1
— 8/497 - 2908 - 3715 — 2/9/0/2

1494 3150 6624 84009

Happy Easter irom Math-Drills.com!




